Olympiad 2019
Class 10
Important Instructions:

All questions carry equal weightage.

10 minutes are provided for filling the OMR sheet and reading the instructions.
Exam duration is 1 hour only.

Please ensure that this question paper has 50 questions. It is divided into the
following sections —

For class 1st to 5th: Mathematics, Science, English and General Knowledge
For class 6th to 10th: Mathematics, English, Science, General Knowledge and Logical
Reasoning

Every question has one correct answer.

Please read the instructions for answering given on the OMR sheet.

Candidates must submit a completely filled OMR sheet before leaving the hall.
There is no negative marking.

Section — A (Mathematics)

. The HCF and LCM of two numbers is 13 and 182 respectively. If one number is 26, find
the other number.

SRS ATIRI U SR THGRH: 13 31R 182 § 1UfGUHIBT 26 §,
GIFGRREERIGCAIEI

A.52
B. 90
C.89
D.91

Find the greatest 6 digit number which is exactly divisible by 24, 15 and 36.

JIUTS! 6 eI RSTRTAB S 24, 15 3R 36 Afdepafqug |

A.9,99,999
B. 9,99,720
C. 9,99,990
D. 9,99,900



3. Find the cubic polynomial p(x), if a, B and y are the zeroes of a polynomial p(x) such that
at+f+y=2,af+py+ya=-7afy=-14.

YIgUTS p(x) BIYATHIY, Tfda, B, yEHEGUS p (x) PRIRSIR
a+B+y=20B+By+vya=-7,0By=-14

Apx)=x3-2x2-7x—14
B.p(x) = 2x3 — 2x2 — 7x + 14
C.p(x) =x3—-2x*+7x+ 14
D.p(x) =x3—2x? —7x + 14

4. The sum of first 7 terms of an A.P is 63. The sum of the next seven terms exceeds the
sum of first seven terms by 98. Find the 28th term of this A.P.

A.PHUEATIIUCIBRINTT63E | 3RTAATIUG BTN, U TaucihaNTY 98
fOrTeTR ISYA. PHI28aTUe B ToTT |

A. 57
B. 56
C.58
D.50

5. Inthe given figure, ZBAC = 90°, LADB = 90°,AC = 24cm, BC = 26cm, and BD =
8cm. Find the length of AD.

fewusiieed, LBAC = 90°, LADB = 90°, AC = 24cm, BC = 26cm, 3R BD = 8cm, AD
ARG ERIREIS L

A.5cm
B. 7cm
C. 8cm



D. 6cm

6. The age of the mother is twice the sum of the ages of her 2 children. After 20 years, her
age will be equal to the sum of the ages of her children. Find the age of the mother.

Hih 1Y TP 2 SHIBIARIBUNTBIGIATS | 20 THbETG,
DTS TH D 13BN SRISRE T [HTATR HTIRTIb TS |

A. 40 years
B. 39 years
C. 50 years
D. 60 years

7. A pair of linear equation is given. What kind of solution do these equations have?

3x —5y =20
6x — 10y = 40

A. No solution

B. Infinitely many solutions

C. Unique solution

D. None of these

NPT IRUB UG A Ta & [3THHBRUN BTG AP IR EPI?
3x —5y =20
6x — 10y = 40

A. HISETTa!

B. URMAGEUHSHdhEd

C. 3ffgdtuga

D. 3THUD I8!

8. Inthe given figure, find the value of 2AOB.



10.

fawTEsfipsH, A0 BHTHMIIAGIT |

P A
o C
“ - 5 >
A. 45°
B. 60°
C.120°
D.90°

Find the number of solid spheres, each of radius 3cm that can be made by melting a solid
metal cylinder of height 45cm and diameter 4cm.

45 cm SIS 3R 4 cm A & Ridex & g 3 cm B0 & fhd= M §97T o 9ha
&

A.5

B. 10

C.8

D. 12

Three hens and two chicks weigh 32 kg. Four hens and three chicks weigh 44kg. All the
hens have the same weight and all the chicks have the same weight. Find the weight of
two hens and one chick.

&1 TSIk <t gl 1 g 32 fral 8 AR gfaT SR o <ol 1 g 44 fal 81 afe
TAS T 3R ol 1 goi- T €, Ot & GRTAT SR U ol BT aoi 1d B |

A. 40kg
B. 64kg
C. 20kg



11.

12.

13.

14.

15.

D. 60kg

Section — B (English)

Choose the correct spelling.
A. Assasination

B. Asasination

C. Asassination

D. Assassination

Millions of people/die every year due to the lack of access/to clean water and proper
sanitation.

A. to clean water and proper sanitation

B. die every year due to the lack of access

C. Millions of people

D. No error

Which of the below options is punctuated correctly?

A. Boys, please finish your research quickly. No, student will be permitted to remain in
the library after closing time.

B. Boys, please finish your research quickly. No student will be permitted to remain in
the library after closing time.

C. Boys please finish your research quickly. No; student will be permitted to remain in
the library after closing time.

D. Boys, please finish your research quickly. No. Student will be permitted to remain in
the library after closing time.

Choose the correct phrase.
A. Take it or leave it

B. Leave it or take it

C. Take it or give it

D. Take it and leave it

Choose the sentence to complete the paragraph.

Sunita: Hey, come on, let’s go and have some ice cream before the test.
Ankita: Sorry, I can’t. I have to study.

Sunita:

A. Have a biscuit.

B. Come on, you have studied enough.

C. What’s wrong with you?



16.

17.

18.

19.

20.

D. Come on, ice cream is good for a cold.

Read the sentence given below and find the error.
A. He said that he would not be able

B. to come with all of us

C. because of him uncle’s visit.

D. no error

Write the sentences in correct order to make a meaningful paragraph:

I. Here is a brief of Mr. Walter's letter.

I1. In case he is pushed, he will turn against Mr. Walter and make the conspiracy public.
[11. He had an interview with Mr. Ray which was heated up to an extent that the latter
became angry and defiant.

IV. His visit to South was not good.

A. 1-1V-ITI-]

B. IV-11I-11-1

C. I-ll-1Vv-11

D. I-IV-HI-11

The 2006 World Cup _____in Germany, and Italy won the soccer tournament.
A. was held

B. is held

C. was holded

D. was being held

Your thoughts can __ your mood, too.
A. effect

B. affect

C. affected

D. effected

Give the antonym of the given word by using the correct prefix:
Credulous

A. Incredulous

B. Uncredulous

C. Discredulous

D. Credulously

Section — C (Science)



21. How do we know that fission isn’t responsible for the Sun’s energy?

22.

23.

A. Fission doesn’t produce enough energy per gram of fuel.

B. If fission were going on in the Sun, the Sun would explode.

C. If fission were going on in the Sun, the Sun’s mass would increase.
D. There isn’t very much fissionable material in the Sun.

EiJ-IdN-I\TiI"ICIGId?{deJIdo\ﬂId>lc'1kld{9|5'1l\5|“-ldl‘{'16I67

AfeEsTRufrmraiasiesareTTdigarR |

Which of the following statements about the given reaction are not correct?
FexO3 + 3CO — 2Fe + 3CO2
I. Fe2O3 is getting oxidized to Fe.
Il. Fe2Oz is acting as a reducing agent.
I11. CO is acting as a reducing agent.
IV. CO is getting reduced to COx.
A. 1l only
B. I, Iland IV
C.lland IV
D. land I
o T I i
Fe;O3 + 3CO — 2Fe + 3CO2
|.Fe20s, FeH TaiipaaIReTe |
I1. Fe,0:U@ SUaI®H IS e TR BT RRET] |
111, CO U3 UITIH TSl c e UH BT HRIETS |
IV. CO, CO,HeTaRdsReTs |
A. ad Il
B. 1, 11 3R IV
C. 11 3R IV
D. 1 3R 1

Who has a same pair of sex chromosomes?
A. Girls only

B. Boys only

C. Both girls and boys

D. It depends on many other factors

R NIEC R A R CR E b B A LC AN VIS 2



24,

25.

26.

A. HaddsSHarA
B. hadds®IH
C. dsfPursiRTsHaH

D. 8PS ATHRP IR+ B8

Ohm’s law is valid only when

A. Temperature increases

B. Temperature decreases

C. Temperature remains constant
D. Pressure remains constant.

K ear ) Craparcklits | BaET |
A. d9HHEgae

B. dIUHGHG dTe

C. auHH fRR @ g

D. CEaRRIEdT8 |

The soap molecule has a

A. Hydrophilic head and a hydrophobic tail
B. Hydrophobic head and a hydrophilic tail
C. Hydrophobic head and a hydrophobic tail
D. Hydrophilic head and a hydrophilic tail

AIGTH HYHTHE

A. RSB RRIRUF TR B TH IS
B. BTSSIhIaH RIRARUGEIZ ST [ Th YD
C e hI B RRIRTHEZ S DI THUD
D ERSIhAhRR ARG S T [Th YD

Which part of the human brain controls body temperature?
A. Pituitary

B. Diencephalon

C. Hypothalamus

D. None of these

J-II"IOIHR\('IBObdﬂd?I"N-II‘HI‘I-‘%I'E\I{a?dlql-ll"ld?ll Yl CICfN('Il%?
A. TUeet

B. SRTIHAM

C. gTsuTHy

D.




27.

28.

Two bulbs have the following ratings:
()40 W, 220V
(i) 20w, 110V
What is the ratio of their resistance?
A l:2
B.2:1
C.1:1
D.1:3
el AR %
()40 W, 220V
(i) 20 W, 110V
I UfRIY BT 3UTd 31 82
A l:2
B.2:1
C.1:1
D.1:3

Which one of the following organisms reproduces asexually by budding?
A. Hydra

B. Amoeba

C. Paramecium

D. All of these

IR NI R E R AR R MIECIRR MR UE R R P S CE ok KA

29.

NS
B. 3MHIET
C. RIfHREH

D. It

Which is the last element to follow the law of octaves?
A. Oxygen

B. Calcium

C. Cobalt

D. Potassium

i & A BT UTe B arer ifaH d &9 a1 ]2
A S

B. dfexraH

C. Plalee




30.

31.

32.

D. UrefRrm

The breakdown of pyruvate to give carbon dioxide, water and energy takes place in

A. cytoplasm

B. mitochondria
C. Chloroplast
D. nucleus

Section — D (General Knowledge)

Which of the following ancient Indian poets lived in Pallava courts?
1. Kalidasa

2. Dandin

3. Bharavi

A.2and 3 only

B. 1 and 3 only

C.2and 1 only

D.1,2and 3

frafiied & & ©F-91 UrRiF YR $9 Uead gaR § g 412
1. HIfcra™

2. qUS

3. YRfd

A. HId 2 3R 3

B. Had 1 3R 3

C.Had2 3R 1

D.1,2 3R 3

Which one of the following lakes is a salt water lake?
A. Wular

B. Dal

C.Sambhar

D. GobindSagar

[FEISIECEEREIRRIEINICIN IR [




33.

34.

35.

36.

A. TR
B.Sd
C. gy

D. MfdgarR

Who appoints the Comptroller and Auditor General of India?
A. Prime Minister

B. President

C. Governor

D. None of these

YR & FEH 3R HeTaal Uefd &t Fgfad &I Rl 82
A. QYT

B. I1yufd

C. MR

D. STHIDISTR!

When was “National Emergency” announced for the first time in India?

RTISMUITRTT BIATUTHRAHIG IR ED TS T2

A. October 26, 1962
B. January 31, 1953

C. September 23, 1962
D. March 22, 1950

On which date is the National Statistical Day celebrated in India?

YR H by kG $1 P witeas! feaw w7 S 52

A. June 27, 2019
B. June 28, 2019
C. June 29, 2019
D. June 30, 2019

According to the Forbes list 2019, who is the world’s highest paid athlete?
A. Roger Federer

B. Cristiano Ronaldo

C. M.S Dhoni

D. Lionel Messi



37.

38.

39.

BRI 2019 HIUR, GGG S AG Y TAHaTaYdedHg?
A. TSRBST

B. e feamRIcS!
C. Heg Rig YHT
D. AR

Pakistan accused India of waging by using water as a weapon?
A.’First generation Warfare”

B. “Hydro generation Warfare”

C. “Fifth generation Warfare”

D. “Aqua War”

PRABISRITTHTT?
A. T

B. Ulfhed™

C. ST

D. YYFRIST3ANRBT

Which glacier in Iceland has lost its identity due to climate change?
A.Okjokull

B. Siachen

C. Milam

D. Sumatra

AN\ AN n aN C
TS SRR ASTAdIgIR AT H B RUIS O U8 aE G 6?2

A B SHd
B.Ryarfe=

c.faam
BRI

When was the Indian Air Force officially established as an auxiliary air force of the
British Empire?

A. 1912

B. 1922

C. 1932

D. 1942



40.

41.

YR arg 1 1 SATABING IR TR TSR THTed &1 G arg 91 & ©U H Ha

RyTfUd foar am 912
A. 1912
B. 1922
C.1932
D. 1942

Which state’s transport Minister launched live tracking system for the public buses?
A. Karnataka

B. Uttar Pradesh

C. Maharashtra

D. Delhi

P IRTUB URaETHA TS e b IATu g d e [ TR H = aT?
A. HICH
B. STRUSK

C. HERIY
D. faect

Section — E (Logical Reasoning)

Find the missing number in the adjoining figure.

\ ;

A 12
B.14
C.11
D. 13

IBEINIECEICARE SRR RIGEAISI




42.

\ .

In a shop, there were 4 Statues of different heights P, Q, R and S, S is neither as tall as P
nor as short as R. Q is shorter than S but taller than R. if Manu wants to purchase the
tallest teddy, which one should he purchase?

A. Either P or S

B.Only S

C. EitherQorS

D. Only P
THGHH, HT-ATERCH P, Q, R R S F 4
it off | s 74t p dTdaTg $iRAR RRSTaASIeT Q, S ¥BleTe, afd- R

A . TS N o SN N W o o
Hddle HTRAIIHAIICS ARG ATdg dle, dI3Hh[THRARGATeU?

ATTIAIPATS

B.& IS

C.AEIQATS

D.%adP

43. Which letter will replace the question mark in the following figure?

6 4 4 1
4 N L T
5 ] ? 1
7] 10 14 2

A Z

B.R

C.Q



44,

45.

6 4 4 1
4 N L 7
5 u ? 1
6 10 14 2

A.Z

B.R

C.Q

D. X

If A + B means A is the brother of B; A — B means A is the sister of B and A x B means
A is the father of B. Which of the following means that C is the son of M?

A M-NxC+F

B.F-C+NxM

CCN+M-FxC

DMxN-C+F

e A + BBIS A, B BIHES: A - BB A, B BIagTe3R A x BH3ifg A, B
HIfvdre IRgfaRaaaafeassiitie ¢, M HTge?

A M-NxC+F
B.F-C+NxM
CN+M-FxC
D.MxN-C+F

What is the missing number in the given series below?

ERYERVERVAR
&\ Q/\l;"‘/

A9
B.11

C.13
D. 10

TR T qeReTe?




46.

47.

48.

(1 (30
&

A9
B.11

C.13
D. 10

If in a certain code, TRIUMPH can be written as UHPMIRT and COLLIDE as
LEDILOC, then how can COURAGE be written in the same code?

A. REGAOUC

B. REGAUOC

C. GEARUOC

D. RGEAOQUC

I Th AT B H, TRIUMPH &1 UILPMIRT 3R COLLIDE &7 LEDILOC & &Y

T forar ST YopaT 7, @ ST HIS § COURAGE &l ¥ foral & o 872
A. REGAOUC
B. REGAUOC
C. GEARUOC
D. RGEAOUC

What will come next in the given series?
ZA5, Y4B, XC6, W3D,
A. VE2

B. V2E

C.VT7E

D. VE7

TS Y T ST ST
ZA5, Y4B, XC6, W3D,
A. VE2

B. V2E

C.VT7E

D. VE7

If A stands for add, B for subtract, C for multiply and D for divide, then calculate
6C8A4B3

A. 69

B. 54



49,

50.

C. 49
D. 59

gfg A Slied falg, B UCMIbBeNg, C 0 fod 3R D fauiiord & & forg, ot

6C8A4B3 Bl UMY,
?

A. 69

B. 54

C. 49

D. 49

Which of the four is least like the other three?
A. Hours

B. Years

C. Minutes

D. Seconds

TRAYS I A G AR ?
A. Hours

B. Years

C. Minutes

D. Seconds

If 723 x 22 = 22327: 474 x 13 = 31474 and 829 x 45 = 54928 then 203 x 19 =?
T 723 x 22 = 22327: 474 x 13 = 31474 3R 829 x 45 = 54928, fhT 203 x 19 =7

A. 91320
B. 91203
C. 19203
D. 91302



